
C-Service 3

Hydraulic tubings at first boom JIC

3096001Model:F 265 Z

3096001 - Hydraulic tubings at first boom JIC

Page 1 of 2 13.09.2022



C-Service 3

3097021  1Pipe Rohr

3097032  1Pipe Rohr

3097043  1Pipe Rohr

3097054  1Pipe Rohr

3097065  1Pipe Rohr

3097076  1Pipe Rohr

3097087  1Pipe Rohr

3097098  1Pipe Rohr

3097109  1Pipe Rohr

30971110  1Pipe Rohr

9427594011  2Pipe assy Rohr komplett

3871039912  2Coupling housing Kupplungsgehäuse

3875003413  18Extention coupling housing Kupplungsgehäuse

3871026014  2Male stud Hauptverbindungsgehäuse

21044615  3Extention nipple Nippel

21044716  2One way restrictor Drosselrückschlagventil

3871026117  5Male stud Hauptverbindungsgehäuse

8237182719  3Seal ring Dichtungsring

8237182120  2Seal ring Dichtungsring

9427573121  1Guard Schutz

9427573222  1Guard Schutz

9427574223  6Fastening Halter

9425277124  2Fastening Halter

30471325  2Fastening Halter

9426077026  2Fastening Halter

9427574327  6Rubber tile Gummiplatte

4126359028  12Hexagon screw M 8 x 20 8.8 Sechskantschraube M 8 x 20 8.8

4126361029  10Hexagon screw M 8 x 25 8.8 Sechskantschraube M 8 x 25 8.8

4126363030  2Hexagon screw M 8 x 30 8.8 Sechskantschraube M 8 x 30 8.8

4126416031  4Hexagon screw M 10 x 40 8.8 Sechskantschraube M 10 x 40 8.8

5420121032  4Lock washer M 10 B-2 Fächerscheibe M 10 B-2

5420008333  12Spring washer B 8 Federring B 8

3862034934  4Hose JIC 1/2" 0°/0° L=800 Schlauch JIC 1/2" 0°/0° L=800

21500835  7Hose JIC 1/2" 0°/90° L=2250 Schlauch JIC 1/2" 0°/90° L=2250

21501036  1Hose JIC 1/2" 0°/90° L=2400 Schlauch JIC 1/2" 0°/90° L=2400

309.600.1  0Hydraulic tubings at first boom 1 No 230051- Hydraulikröhre des Hubarmes 1 No 230051-

Pos Part No Description EN QuantityDescription DE

3096001 - Hydraulic tubings at first boom JIC

Page 2 of 213.09.2022


